	Question
	Answer

	1 (a)
	Kim West

Gross Monthly Salary= £ 41,916.67

Total Deductions = £ 6036.70

Net Pay= £35,879.97

Kanye West

Gross Monthly Salary= £330,000

Overtime Rate= £2250

Overtime Pay= £45,000

Total Gross Pay=£375,000

Total Deduction= £2670.70

Net Pay= £372329.30

	1 (b)
	Total West income= £408209.27

	2(a)
	Total Monthly expenditure/monthly deductions= £123100

	2(b)
	£285,109.27

	3
	Kim and Kanye should go with Company C as its £3788 cheaper than company B and less than £12,210 of company A.

	4 (a)
	$147,000 Australian dollars

	5 (a)
	Loan payment option 1= monthly repayment is £392.70
Loan payment option  2= monthly repayment is £737.80

	5 (b)
	I would recommend loan payment 2 if they can    afford the monthly repayments as its cheaper over all by £285.60 (£4712.40-£4426.80)

	6 (a)
	£270

	6 (b)
	£7270


Assessment title  : The West Family Earnings 
